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Typos

Present Text
budget constraint

Corrected Text
slope of the budget constraint
combining (2.49)

Page, line

Inferior good: 0 > 1

combining (2.46)

35, 3" line after (2.35)

Inferior good: 0 <n

(2.105) becomes (2.110) and

39, after equation (2.53)
45, 3
58 9 (2.105) becomes (2.109) and
' (2.106) becomes (2.110) (2.106) becomes (2.111)
58, Figure 2.28 B¥ B"
77, second last line Figure 2.3 Figure 2.4
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149, on x-axis K K
a a
158, line 2 after Fig. 5.28 above the AV curve above the AC curve
159, Figure 5.30(b) qd q)
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189, equation (6.12)
€s — €4 €s — €4
278, Q. 7(a) income under the two income if he |_olants wheat
scenarios, wet and dry alone or rice alone
338, last line 0.05q, 0.05¢>
355, list 3. If Rob plays B, she plays R | 3. If Rob plays T, she plays R
355, list 4. If Rob plays B, she plays R | 3. If Rob plays T, she plays R
365, line 2 after Figure 11.1 AC<AR AC>AR
365, line 2 after Figure 11.1 AC curve lies below AC curve lies above
415, Table 12.1, panel (a) MCD MDC




